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Row z-score

(e92—BINOIN) V1
(z21—eNoIN) V1
(ze9—BINOIN) V1
(zer—ewoin) a1
(620—eNOIN) 29943
(g80—BINOIN) g1
(G90—BINOIN) V1
(020—BINOIN) IN
(1e0—BINOIN) 91
(eso—ewoiIN) 29943
(880—BINOIN) 91
(602—BINOIN) I9
(G81—BNOIN) I9
(81e-eWoIN) 2dad3
(2G0—eN2IN) 29943
(£80—BINOIIN) IN
(LO1L—BINOIN) VT
(LGy—eNoIN) IN
(ye0—eNoIN) IN
(evo—ewoln) 19
(Leo—eoIN) 19
(29z-eoIN) 19
(8¥1—eINOIN) g1
(290-eoIN) 19

(9 1-ewoIN) 2aad3
(229-BINOIN) IN
(860—dH) [ewuoN
(990—dH) rewuo
(G¥0—dH) rewuo
(920—dH) rewuo
(9¥0—dH) lewuo



